
Rješenje 1

[( a

0.01

)−0.01

·
(

b

0.02

)0.02
]100

=
( a

0.01

)−1

·
(

b

0.02

)2

=
0.01

a
· b2

0.0004
=

25b2

a

√
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Rješenje 10

( √
1 + a√

1 + a−√1− a
+

1− a√
1− a2 − 1 + a

) (√
1

a2
− 1− 1

a

)

=

( √
1 + a√

1 + a−√1− a
+

1− a√
1− a2 − 1 + a

) (√
1

a2
− 1− 1

a

)

=

( √
1 + a√

1 + a−√1− a
·
√

1 + a +
√

1− a√
1 + a +

√
1− a

+
1− a√

1− a2 − (1− a)
·
√

1− a2 + (1− a)√
1− a2 + (1− a)

)

(√
1− a2

a2
− 1

a

)

=

(
1 + a +

√
1− a2

2a
+

1− a +
√

1− a2

2a

)(√
1− a2

a
− 1

a

)

=
2 + 2

√
1− a2

2a
·
√

1− a2 − 1

a

=
(1− a2)− 1

a2

=
1− a2 − 1

a

=
−a2

a2

= −1
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Rješenje 15
9x3 − 18x2 − x + 2

−3x2 + 7x− 2

(9x3 −18x2 −x +2 ) : (−3x2 + 7x− 2) = −3x− 1
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3x2 −7x +2
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0

Sada gornji razlomak možemo napisati ovako:

(−3x2 + 7x− 2)(−3x− 1)

−3x2 + 7x− 2
= −3x− 1
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ab = cd

A
a

d
=

c

b
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B
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c
=

cd
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⇒ ab · b = cd · c ⇒ ab · c = ab · b

A to ne vrijedi ukoliko je c 6= b
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⇒ 0 = 0
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